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Name: __________________________________



1
Solve the given equation algebraically for all values of x.  [image: image1.png]




2
Solve for x:  [image: image2.png]




3
Solve for x:  [image: image3.png]




4
Determine the solution of [image: image4.png]


 algebraically.

5
Solve for all values of q that satisfy the equation [image: image5.png]g+7=g+3



.

6
Solve algebraically for all values of x:  [image: image6.png]




7
Solve algebraically for all values of x:  [image: image7.png]




8
Solve algebraically for all values of x:  [image: image8.png]




9
Solve algebraically: [image: image9.png]Jres e






10
Solve algebraically for x: [image: image10.png]Jaxel+l=x





11
Solve for x:  [image: image11.png]X+

-1





12
Algebraically solve for x:  [image: image12.png]=6+ 2a0x-1





13
Solve the equation [image: image13.png]J49-10x + 5 = 2x



 algebraically.

14
Solve algebraically for all values of x:  [image: image14.png]N

2Ax+15) -9






15
Solve the equation [image: image15.png]Jax-Tex=5



 algebraically, and justify the solution set.

16
Solve for x:  [image: image16.png]N eT=x+d





17
Solve algebraically for x:  [image: image17.png]




18
Find, to the nearest tenth, the positive value of x in the equation [image: image18.png]Jrr a2l = 2x





1
ANS:


[image: image19.png]3nfx-2x=-5

afx=2-5
9x = 4x" - 207+ 25

4x* - 29x+25=10

4x-25)x-1)=0

2
=1



1 is extraneous.
REF:
011936aii

2
ANS:


8
REF:
089406siii

3
ANS:


6
REF:
060016siii

4
ANS:


[image: image20.png]I+ T=2t -2+ 1
0=x"-5x-6
0= (x-6)(x+ 1)

6,




  [image: image21.png]


 is extraneous.
REF:
062326aii

5
ANS:


[image: image22.png]


.  [image: image23.png]Sg+T=q+3
g+T=(g+3)
Ig+T=g +6g+9
F+3g+2=0
(g+2)g+1=0
-2





REF:
060528b

6
ANS:


[image: image24.png]Naze1=11-x
4xe1=121- 225+ 2°
0=x
0= (x-6)(x—20)
x=620

26+ 120




  20 is extraneous.
REF:
082227aii

7
ANS:


[image: image25.png]


 [image: image26.png]-5 =-x+7
x-5=x" - 147449
0=x" - 157+ 54
0= (- 6)x-9)
69




[image: image27.png]


 is extraneous.
REF:
spr1508aii

8
ANS:


 [image: image28.png]T4 =-x+6
x-d=x'= 121436
0=~ 13x+40
0= G-8)-3)
58




[image: image29.png]


 is extraneous.
REF:
061730aii

9
ANS:


4.  [image: image30.png]JxE5+l=x
Srr5=x-1
x+5=(x=1*
x+5=2 =25 +1
x*-3x-4=0
(x-4)+)=0
x=4 x




.  x = -1 is an extraneous solution.  [image: image31.png]Interzection
Hay





REF:
010427b
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ANS:


5.  [image: image32.png]Srrl+l=x

Sxrl=x-1
3x+1=(x-1?
3x+l=x"-2x+1
2 -5r=0
x(x-5=0

x=0x-5



.  x = 0 is an extraneous solution.  [image: image33.png]Intersection
HIE





REF:
060629b

11
ANS:


5
REF:
089637siii

12
ANS:


[image: image34.png]2x-6=2a7-1
4x% - 247+ 36 = 4(x - 1)

2 -6red=x-1

2 -Tx10=0
@-5)E-2)=0
5




   2 is extraneous.
REF:
012434aii
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ANS:


[image: image35.png]AJas-10x = 2x-5
49— 10x = 45 - 207+ 25
0=d4x" - 10x- 24
0=2-5x-12
0= 2+ 3)(x-4)




  [image: image36.png]


 is extraneous.
REF:
012333aii
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ANS:


 [image: image37.png]Af6-2x+x=2x430-9
o-am=xen
6-2x=x" +42x+ 441
244z 435210
(x+ 29)(x+ 1) =0
x=-29,-15



[image: image38.png]29) = -29+21
N



, so [image: image39.png]-29



 is extraneous.
REF:
061833aii
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[image: image40.png]2
[4 Zx*7] —G-n?
2x-7=25-10x+ 2
0=x"-12x+32
0= (- 8)x-4)
x=438



  [image: image41.png]24)-T+4=5
n




  [image: image42.png]26)-T+3=5
RO




REF:
081635aii
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3
REF:
088615siii
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[image: image43.png]~4x+3

2 rx-1= 162" - 24549

152 - 257+ 10

0

0=3"-5x+2

0= (- 2)x-1)
2

x=1




  [image: image44.png]-4(1)+3 <0

1is extraneous




REF:
011339a2
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2.6
REF:
089713siii


